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Que.1 Fill in the blanks. 6
f 2 i branches
(1) The curve of y = GrDE-D BB v sssvaroin ranches .
(a) 1 (b) 2 (c) 3 (d) 4

(2) Extent of x = 2cos?8 , y=3sinfis .........
()0 <z <2,-3<y<3 b-2<L2<2,-3<Ly
) -1<z<1,-3<y<3 @d-1<z<1

(3) The perpendicular distance of line 2V2 = 7 ( \/§c036 + sinf) from the pole is ..... 3 ders
(

A 1 (b) 2v2 () 2 (d) VA3

(4) Centre of the circle r = 5cosf is ............

(a) (5,00 (b) (5/2,0°)  (¢) (5/2.m) (d) (5,m)

(5) Cube root unity are ..........

S

@L-1 B)l,-z+£i% (1, £:+i% (@)1,

O =

L
O
L
r

(6) (cis )81 has only ............ distinet values. *
faj 18 (b) 8 {e) 6/l8 {(d) -5

Que.2 Answer the following ( Any three ) 6

) Find tangent parallel to axes for x = 2t%;y = 3t .

) Find the parametric equation for \/a + /y = Va.

) Write polar equation of horizontal line through the point (2, —90%)

) Find equation of tangent line to the circle with radius 4 at the point (4.60%).
)

)

! ,
If 2088 =% + — , then prove that 2cosrf = 2" + 1/2".

7

(1

(2

(3

(4

(5

(6) Reduce 1 — cos r\ + 2sina in modulus-amplitude form .
(r — 1)(x+2)

Que.3 Sketch the curve given by y = ——————— . 6
iz ~ 4}

OR
Que.3 If a curve is given by = = [(i);y = ¢({) and that both x and y get numerically large as t
approaches some number . say a . Then an oblique asymptote to the curve ,if it exist. is given

o dy : )
by y = mx + ¢ , where m = lim -~ and e=lim (y — mz). 6

t=ra T t—a
: pe
Que.4 In usual notation prove that » = e

+ ¢ sind

OR

6



Que.4 Prove that polar equation of circle with centre (ry,6;) and radius a is given by 6
r® +1? — 2rricos(6 — 6,) = a®.
Also find equation of circle if centre is (i) on polar axis (ii) on normal axis ,at distance a from
the pole.

Que.5 Prove that there are q and only q distinct values of (cos # + i sin #)!/7 | where q is an integer.

Hence find the cube roots of unity and show that they form an equilateral triangle in the
Argand diagram. 0

OR
Que.5 State and prove De-Moivres theorem for complex number
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